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TEST}{|INAME DATE
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Last Saturday we climbed a mourctain!

William ond | Nad decided that Safurday wWos e 60\\/-#\\3 doy we would climb Mount
Sturt. No-one else in our clags had ever dried and we wanded ‘o be the FirS'\‘.@ @

We left early on our bikes, backpacks Foll of Food and drink. I Was a perfect
automn day. The air Was calm and erise With the promise of warmth fo come.

Close vp, the mountain looked much larger and higher than ve had thought, but we
Were determined 1o 4ry. We climbed steadily and soon conauered the lover slopes.

S
The upper reaches were steep and hallenging. Loose earth qave way wnder every
Step. Nettles stung our bare arms and legs and prickles clawed af our s0cks. We Were
ot and Hhirety and fired. We climbed and slitherad and ohd untl Finally We reached
the Hop, It fhad foken vs hours o get there.

But ... what o View! The countryside spread out below vs like a magniticent,
potehwort quilt - green and brown ond gold. We felt on fop of the world.

We broke open our backpacks and ate hungrily and then spravled out under o tree
and closed our eves. We must have dozed ofF, For ve voke Yo fhe sound of o
Lockaburra laughing. It Was getting late. We set off down the mountoin. Despite
the loose earth, the snake Vines that tripped us and the thistles and prictles that

gr'qbbed ot Vs, we moved quié\d\{.

The sun hod almost set by Hhe fime e reached our bikes. quickly, we \eaded for
Nome. By Hhe time ve Wheeled them into the shed, it was dar.,

| think Mum W3 & smile When She sa us standing ot the door: We locked lite
something the cat hod dragged in - tired, dirty, seratehed and our socks £l

ok P\"ic\des‘

Read the text and shade a bubble or write an answer to each question.

1 ]  What is the best title for this story? SUMMARISING
(O Bushwalking @e Conquering of Mt Sturf >
(O The Climbers () Mountaintop Views

2 ] What did the boys want to do? MONITORING

(O ride their bikes to the mountain

(O go for a picnic
Z. be the first to climb the mountain
visit the farmer at the toot of tHe mountain
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3 What was the day like? _ MONITORING
(O warm and sunny cool and windy.

cloudy and wet sunny and cold:
y

% ] In this story, what is the foot of the mountain? MONITORING
(O the starting track (O slopes (O dry gully

5 | Which word tells us thys

climbed slowly and carefully?

Osoftly () anxiously (O cheerfully

6 The boys conquered the lower slopes.
That means that they: MONITORING

(O cut their way through the bushes () climbed without stopping
climbed the slopes successfully > () became tired and stopped
7 | "In the story what are the upper reaches? MORNITORING

(O the treetops ~(Othe top part of the mountain N
(O thickly wooded areas (O the distance from the foot of the mountain

8 What challenges did the boys face on the upper slopes? summarisine

® /005(;’ earth gave way wnder every s%ﬁp
R ~ ~/

@ i%“'?l?Z/éj S?LLHT({ their arms CZIM/ /e{fS.
: v . ~
@ _prickles clawed gf theo socks
9 ] The countryside looked like a patchwork quilt,
This means: VISUALISING

(O houses and trees were dotted about
(O it looked soft and inviting

lots of wildflowers
() different coloured paddocks joined each otheD

@ Why do you think the boys dozed off? MAKING CONNECTIONS
(O they had eaten too much

@ they were tired after their climb>
(O they had left early that morning
(O the sound of bees lulled them to sleep

MONITORING

11 Why were the boys able to move quickly? PREDICTING
they were goingr%im > (O the sun had not gone down
they took bigger steps (O they ran

12 The boys looked like something the cat had dragged in.
This Australian saying means: VISUALISING

samething small () a ball of woal
(O something half-dead (O something tasty to eat

NUMBER OF CORRECT ANSWERS 12
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Week 9 Year 3 Word Search

often
Words
disguise
whistie
guest
Challenge
autumn
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Week 9 Year 4 Word Search
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Week 9 Year 3 Anagrams

These words have been mixed up. Can you unscramble
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Week 9 Year 4 Anagrams

These words have been mixed up. Can you unscrambile
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" Mango's Equations |
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multiplication and division fact family. What fact family
could she make?

i a Underline the question. b (Circle) the facts.
. ¢ Act it ou(Roll 2 dicexUse the two numbersin the first

multiplication. Complete the fact family. Pacoats plea 5e

. heck

x| 6| =24 ][ o]=[4] %
b | x| 4= |24 Gl

2 a What do you notice about The First number of each
division sum?

H 1‘5 Hwe answer ‘JrO H\e mmH;p,;coﬂL:‘on

b Does it matver if you swdp The order of the numbers in
division equations? Why?
Yes . You must alwaﬂs start with the \o‘zr\cjesf humbe -

3 Roll again. Write the new number fact family. Parents lese
: che de
i 31X g1=1]15 51+ 3 |=1|¢5
E 5 X2 = '° 5115 [=]|3

—————————————————————————————————————————————————————————————————————

U a How many fact families can you find that include the

t number HO?
i 7 x20 =40 /IXLI—OTZI‘O/ 5Xx8 <40 / 4xi0 =40

b Compare with a partner Did you have the same set of
number facts using HO?

L Y
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Activity 16

A B C D A B C D
6+3=9 |6+0=[, [6+2=] |6+0= {, 6+3= G |6+2=Q |6+3=0 [6+3=9
6+4=10 |6+4=10 |6+4=|g |6+1= 7] 4+6=10) |6+0=0b |4+4=9 [3+3= (,
6+2=9 |6+3=0 |5+43=¢ |6+2=F | |149= |0 |3+3=( |6+2=% |6+4=|y
5+5=]9 |6+2=Q |4+4=g |6+3= ¢ 6+4= | |6+1= T [3+1=4 |6+0=(
4+6=10 |6+1=7 |6+1="7 |6+4= JO | |343= |, |6+4=10|6+1=T |2+2={
3+3=lp |5+0=5 |6+0=L |5+5= |0 | |6+1= 7 |2+8=|g |6+4= )0 |5+5=10
2+8=0 |4+6=1C |6+3=( |4+4=¢Q 6+2= ¢ [5+0=5 [2+8=¢ |6+1= T
1+49=(] |3+3=b |3+1=4 [343= b | [248= g |6+3=G |6+0=0 |1+1= )
6+1=7 |2+8=|0 |2+8=|( |2+2= 4 6+0= { |1+1=2 |5+3=% |4+4= 9
6+0=06 [1+1=2 |1+9=]( 5+5= |0 [4+6=(¢ |149=/0 |6+2=Q

A B C D A B C D
3+3=(, |5+0= 5 |6+0= [, |5+5=10| |6+1="T |2+8=Q |6+4=(0 |5+5= |0
4+6=10 |6+1= T |6+1="7 |6+4=|0 | |3+3=(, |6+4=10 |6+1=" |2+2= 4
2+8=10 |4+6= |0 |6+3= ( |4+4=¢ 6+2=Q [5+0=5 |2+8=10 |6+1= ]
149=10 [3+3=(, |3+1= {4 |343=(, | |6+4=10|6+1=7 |3+1={4 |6+0= [,
545210 |6+2=GQ |4+4=9 |6+3= 2+8=1¢ |6+3=§ [6+0= b |1+1= )
6+2=¢ (6+3=Q |5+3=§ |6+2=¢ | |1+9=i3 [3+3=0 |6+2=§ |6+4= [0
6+1="] |2+8=0) |2+8=)0 |2+2=4 | |6+0=(, |1+1=2 |5+3= G |4+4= ¢
640= (, |1+1=) |149=( |1+1=2 | |4+6=| |6+0=( |4+4=Q |3+3= |
6+4=10 |6+4=]0 |6+4=)() [6+1=T] 5+5= ¢ |4+6=|Q |1+9=10 |6+2= 4
6+3= § |6+0=0 |6+2=¢ 6+3={ |6+2=¢ |6+3=Q
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